C:E Subtraction within 10

Name:
Solve each problem. Answers
1) Isabel used two of her pencils. Now she has three pencils. How
many pencils did Isabel have to begin with? 1.
2.
2) Edward had ten toy boxes. If he has eight of them filled with toys,
how many empty boxes does he have?
3.
3) Rachel had three books. If she bought seven more at ayard sale how 4,
many would she have total?
5.
4) At the zoo a cage had ten snakes. If eight were hiding, how many
snakes were not hiding? 6.
7.
5) Mariahad ten pieces of candy. After eating some, she had seven
pieces. How many pieces did Maria eat? o
6) A furniture store had nine chairs. After selling some, there was 9.
seven left. How many chairs did they sell?
10.
7) For abirthday party aclown gave away four balloons. Now he has
six balloons |eft. How many balloons did the clown have to start 11.
with?
12.
8) On Facebook Tiffany had six photos of her friends and three photos
of her family. How many photos did she have total?
9) A store had six sodas. If they sold four of them, how many would
they have left?
10) Robin had eight pieces of candy. She ate five pieces. How many
pieces of candy does Robin have now?
11) A grocery store had five bottles of regular soda and two bottles of
diet soda. How many bottles did they have total?
12) Henry had eight apps on his phone. After deleting some, he had four
left. How many apps did he delete?
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ﬂh Subtraction within 10 Name._Answer Key

Solve each problem. Answers
1) Isabel used two of her pencils. Now she has three pencils. How Take From
many pencils did Isabel have to begin with? (Start Unknown) || & 5
2 2
2) Edward had ten toy boxes. If he has eight of them filled with toys, Take From
how many empty boxes does he have? (Result Unknown) 10
3.
3) Rachel had three books. If she bought seven more at ayard sale how Add To 4. 2
many would she have total? (Result Unknown)
5 3
4) At the zoo a cage had ten snakes. If eight were hiding, how many Take From
snakes were not hiding? (Result Unknown) || 6. 2
7 10
5) Mariahad ten pieces of candy. After eating some, she had seven Take From
pieces. How many pieces did Maria eat? (Change Unknown) o 9
6) A furniture store had nine chairs. After selling some, there was Take From 9. 2
seven left. How many chairs did they sell? (Change Unknown)
10. 3
7) For abirthday party aclown gave away four balloons. Now he has Take From 7
six balloons left. How many balloons did the clown have to start (Start Unknown) 11.
with?
12, 4
8) On Facebook Tiffany had six photos of her friends and three photos AddTo
of her family. How many photos did she have total? (Result Unknown)
9) A store had six sodas. If they sold four of them, how many would Take From
they have left? (Result Unknown)
10) Robin had eight pieces of candy. She ate five pieces. How many Take From
pieces of candy does Robin have now? (Result Unknown)
11) A grocery store had five bottles of regular soda and two bottles of AddTo
diet soda. How many bottles did they have total? (Result Unknown)
12) Henry had eight apps on his phone. After deleting some, he had four Take From
left. How many apps did he delete? (Change Unknown)
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C:E Subtraction within 10

Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

Isabel used two of her pencils. Now she has three pencils. How
many pencils did Isabel have to begin with?

Edward had ten toy boxes. If he has eight of them filled with toys,
how many empty boxes does he have?

Rachel had three books. If she bought seven more at ayard sale how
many would she have total?

At the zoo a cage had ten snakes. If eight were hiding, how many
snakes were not hiding?

Maria had ten pieces of candy. After eating some, she had seven
pieces. How many pieces did Maria eat?

A furniture store had nine chairs. After selling some, there was
seven left. How many chairs did they sell?

For abirthday party a clown gave away four balloons. Now he has
six balloons left. How many balloons did the clown have to start
with?

On Facebook Tiffany had six photos of her friends and three photos
of her family. How many photos did she have total ?

A store had six sodas. If they sold four of them, how many would
they have left?

Robin had eight pieces of candy. She ate five pieces. How many
pieces of candy does Robin have now?

Answers

10.

C
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